SECONDARY SCHOOL EXAMINATION - 2023 (ANNUAL)

Sub. Code - 115

Model Set

COMMERCE (Additional)
qrforsg (srfaRaa faw)

9d - 3 9¢ 15 fieie qunid : 100

Time : 3 Hrs. 15 Minutes Full Marks : 100

G YTl B HE&AT - 100 + 30 + 8 = 138
Total no. of Questions : 100 + 30 + 8 =138

geEnefal & fory faeer —

Instructions for the candidates :-

1.

wlemeff OMR STR—U® WR 301 U YRA®dT HHAd (10 3Dl &)
araey ford |

Candidate must enter his/her Question Booklet Serial No. (10
digits) in the OMR Answer Sheet.

oRleTTeff ALY 37U TRl H T IR G |

Candidates are required to give answers in their own words as far
as practicable.

<R @ik SRR W R g sl quie e oxd §

Figures in the right hand margin indicate full marks.

Tl B eIHYdd Ygn @ forw 15 fAee &1 ifaRed v faar ar 2

15 minutes of extra time has been allotted for the candidates to

read the questions carefully.
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IE Y- T TUSi H B, GUs—3 AR WIS |
This question booklet is divided into two sections : Section-A, and

Section-B.

Gus—3 H 100 IS U §, [d ¥ fHEl 50 ULHl BT IR <
AfFErd T 1 50 ¥ SIF SR & WR UM 50 IANI BT & HeAldbA b
ST | I% URF & foig 1 3fe FgiRa 21 39 A8 SR &I Suae
PRIY T OMR—SR U3a H 3 T 2l 9 Bl dlet /el dicl U |

Te & | fHA ff geR & @EeR /TR et /i€ /ARGA *nfe ol
IR ARSI H TIANT HRAT 74T 8, IIAT GRIET GROMA 3T 897 |

In Section-A, there are 100 objective type questions, out of which
any 50 questions are to be answered. First 50 answers will be
evaluated in case more than 50 questions are answered. Each
question carries 1 mark. For answering these darken the circle
with black/blue ball pen against the correct option on OMR Answer
sheet provided to you. Do not use Whitener/Liquid /Blade/Nail on
OMR Sheet, otherwise the result will be treated invalid.

Gug—q H 30 ISR U 8, NH 4 fbgl 15 Uedl &1 IR <A
et 2|y wed forg 2 ofw fuiRa 71 g7 aifaRed s @vs # 8

< IR U oy W, e O sl 4 Ul BT SR 34T B | UD
g3 & foru 5 3fe iR g
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In Section-B, there are 30 short answer type questions, out of
which any 15 questions are to be answered. Each question carries
2 marks. Apart from these, there are 8 Long answer type
questions, out of which any 4 questions are to be answered. Each

question carries 5 marks.

8. ol PR & Solagi=d IYHIVI BT YART gUidar afvid 2 |

Use of any electronic appliances is strictly prohibited.

¥Yus—3l / Section A

axqf~ss 939 / Objective Type Question

Ue T 1 W 100 9% d UAd U & AT IR deed fay U €, e 9§ U@
HEl 2| fbgl 50 Yol & SR AU gRT Y WY WEl fdbed HI OMR e W
fafea o | 50 x 1 =150
Question No. 1 to 100 have four options, out of which only one is correct.
Answer any 50 questions. You have to mark your selected option on the
OMR-Sheet. 50x1 =50
1. GXIUT @l Q8% Il Yolel! &1 3MfdshR fdee fbar ?

(A) BT URTetl (B) 10 TR0 dTecidry

(C) 31RO THO HTex (D) 31 ¥ B =l

Who invented the double entry system of book-keeping ?

(A) Lucas Pacioli (B) J. R. Batliboi

(C) R. N. Carter (D) None of these
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fore & 9 oRgipT BT S © —
(A) IS vd <1fi &1 | (B) Abs UG g A BT S

(C) <SRl TG oHERI &I S (D) Sudad |+l
The object of accounting in the following is —

(A) Knowledge of capital and liabilities

(B) Knowledge of cash and bank balance

(C) Knowledge of debtors and creditors.

(D) All of the above.

GidT § —
(A) T fa=ir (B) U el
(C) (A) Td (B) <t (D) 519 ¥ ®Ig el

Accounting is —
(A) A science (B) An Art

(C) Both Aand B (D) None of these

QRIUT Ud b &1 Yo J&RIdh e FahTRra gg o ?

(A) 1946 (B) 1494

(C) 159 (D) 1498

When the first book on Book-keeping and Accounting was published ?
(A) 1946 (B) 1494

(C) 1596 (D) 1498
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ST FAISN B SUANTDhIS H A 8 —
(A) ST (B) TR&R
(C) @FeR (D) 37+ & =T

Users of Financial informations include —

(A) shareholder (B) Government
(C) Creditors (D) All of these
e H 9 39 Wl R g ?

(A) TR (B) o

(C) I (D) sa

Which of the following is Fixed Asset ?

(A) Debtors (B) Creditors
(C) Cash (D) Building
el IE & —

(A) o (B) oeR
(C) STedlel ™ T (D) TER

Currrent Liabilities is —
(A) Capital (B) Creditors

(C) Long term Loan (D) Debtors

I AfFT Bl R Hed 8, o F FTUR Bl ®YAT o1 & ?
(A) TR (B) 3aR
(C) ure (D) T & g 7T
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10.

11.

The Person from whom business has to receive cash is called ?

(A) Creditors (B) Debtors

(C) Customers (D) None of these
B Gl § —

(A) I G (B) arfde @l
(OELLEREIL (D) 4 ¥ &g el

Purchase account is —
(A) Personal Account (B) Real Account

(C) Nominal Account (D) None of these

ford) T B SR T R I B IR BT had & —

(A) o9 (B) B1f%

(C) on (D) =aa

The excess of expenditure over income during a period of time is
called —

(A) Profit (B) Loss

(C) Capital (D) Expenses

fereforRaa & | p—dr FHievor 98 2§ ?

(A) 99T + Uoil = Sl (B) 9wt = Uoil + 1R

(C) W=y + iy = Yol (D) a1y — Yoit = |Hf
Which of the following equations is correct ?

(A) Assets + Capital = Liabilities (B) Assets = Capital + Liabilities

6
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(C) Assets + Liabilities = Capital (D) Liabilities — Capital = Assets
12, @ B 9oy {5 3 3R & §9 8Idl © 7
(AT (B) A
(C)H (D) U
The format of an account is similar to which of the english alphabet ?
(AT (B) A
(C)H (D)U
13, 3MMQY AWih YoIell ol faeredr @
(A) AR (B) dsi~ap
(C) facrard (D) 5% & &+
The characteristics of ideal accounting system is —
(A) Simplicity (B) Scientific
(C) Economical (D) All of these
14, QIR @l YUTTel ofdl Il B ;

(A) HfdTd Qe (B) ar&ifde el

(QRILEIERCEIN] (D) s & =

Double Entry System keeps records of ;

(A) Personal Account (B) Real Account

(C) Nominal Account (D) All of these
15, “OTdTel BT AW AR I dTel BT ST AN BIAT & —

(A) @afdqra @rar (B) arxifdsd @mar H

7
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16.

17.

18.

(C) AT @rar H (D) 7H & |+

“Debit the receiver and credit the giver” is applicable to —

(A) Personal Account (B) Real Account
(C) Nominal Account (D) All of these
ENIEUREIRINIE

(A) I G (B) arfde @ral
(C) AT =Tt (D) s & BIS &l

Machinery account is -
(A) Personal Account (B) Real Account

(C) Nominal Account (D) None of these

e g6 I sfear @rar g —

(A) HfdTd Qe (B) ar&ifde el
(C) A =Tt (D) 57 & BIS &l
State Bank of India account is —

(A) Personal account (B) Real account

(C) Nominal account (D) None of these

U IroEET # fdhde @ B § 7

(A) T (B) @
(C) df= DEE
How many columns a Journal has ?

(A) Three (B) Four

8
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19.

20.

21.

(C) Five (D) Eight

forol gecHre @ oy, wd & Wl grr forg U wret & oy M gir § —
(A) b e (B) qoit e

(C) 3MeRoT @rar (D) 4 ¥ &g el

Goods taken by the proprietor from the firm for personal use are

debited to :-

(A) Cash Account (B) Capital Account
(C) Drawings Account (D) None of these
Grarae] a1 8 ?

(A) WErISH 981 (B) WR® &1

(C) ver= qg1 (D) T =+

What is a Ledger ?

(A) Subsidiary Book (B) Memorandum Book
(C) Principal Book (D) All of these

Grarael # & @ & vl @ G gl @

(A) 1 (B) 2

(C)3 (D) 4

Number of sides of a Ledger Account is :

(A)1 (B) 2

(C)3 (D) 4

9
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22.

23.

24.

GIATEE! BT &I Ied ST ©

(A) B fapa (B) &l Y

el

(C) TR &I o™ a1 &I

(D) T& @¥d & AT oF—<Al &1 dHfEd aiRom

The main object of Ledger is to know :

(A) Total Sales (B) Total Purchase
(C) Profit or Loss of the business

(D) Net effect of all the similar nature transactions

RI$e FE1 & WM Bld §

(A) ST 6 A)E (B) T &I avE

(C) TUe &1 TRE (D) 31 ¥ B =l
The columns of Cash Book is :

(A) Like a Journal (B) Like an account
(C) Like a Trial Balance (D) None of these
s 981, o oM & oy 8 ©

(A) JHs oY Ui (B) e & YA
(C) (A) wa (B) &l (D) 37 & Big &I
Cash Book is intended to record :

(A) Receipts of Cash (B) Payment of cash

(C) Both (A) and (B) (D) None of these

10
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25 B YAl ®I fQ@g S arell 981 &1 ded ©
(A) GasT Ubs §El (B) Vs &l

(C) 31 @™ dTell AP dal (D) T @™ arell s g8
A Book used to record small cash payments is called :-
(A) Petty Cash Book (B) Cash Book
(C) Two column Cash Book (D) Three column Cash Book
26. ddlUc 8 Ud
(A) e (B) faaxor
(C) g (D) s
Trial Balance is a/an :
(A) Account (B) Statement
(C) Information (D) Summary
27.  WHRI W &1 AY Ad BT § ¢
(A) =4 (B) ST
(C) H a1 ST+ (D) BB &l
Balance of assets account is always :
(A) Debit (B) Credit
(C) Debit or Credit (D) Nothing
28. doUC B g9 BT faferit € —

(A) 39 RfY (B) AT Ry
(C) AT 3R 9w fafey (D) Swiaa wfl

11
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Methods of Preparation of Trial Balance are :-

(A) Balance Method (B) Total Method
(C) Total and Balance Method (D) All of these

ST faferg e foradt & S e Sirar @ -

(A) TrE® (B) e

(C) st (D) &7 ¥ F1E T

One who draws the bill of exchange is called :

(A) Drawer (B) Drawee
(C) Payee (D) None of these
T e ¥ T

(A) faferrar fau= (B) =%

(C) ufarsT T (D) ¥ sTe

Indian currency is a :

(A) Bill of Exchange (B) Cheque

(C) Promissory note (D) Bank draft

et & e & forg foeaq faq Rarge &9 & wu 4 Ry & € ?

(A) 30 (B) 03

(C) 365 (D) 378 | BIg T2

How many days are allowed as days of grace for Payment of bill ?
(A) 30 (B) 03

(C) 365 (D) None of these

12
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32.

33.

34.

35.

oeR Td db JfAfdey Sarexor ®

(A) =g, TR & (B) =it =R &
(C) (A) 3R (B) <l & (D) 3% & BIg el
Creditor and Bank overdrafts are the examples of :
(A) Current Liabilities (B) Fixed Liabilities
(C) Both (A) and (B) (D) None of these
fa<irg fqaxor & afffera &

(A) TeTUe (B) o BT+ @rar
(C) arfefe—farcat (D) (B) wd (C) =

The Financial statement consists of :

(A) Trial Balance (B) Profit & Loss Account

(C) Balance Sheet (D) Both (B) and (C)
Y e—faesr g9 Sirar ®© ¢

(A) & fafdr faz & few (B) T faviy fofdr R
(C) d=qof @y @& forg (D) =74 & @
Balance sheet is prepared :

(A) For a particular Period (B) On a particular date
(C) For the whole year (D) All of these

ST—3T XaTaT o 19T @) 3ifhdT Pl hed § ¢

(A) gg o™ (B) I =1

(C) dpel v (D) bt BT

13
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36.

37.

38.

Excess of credit in Profit and Loss Account is called :

(A) Net Profit (B) Net Loss

(C) Gross Profit (D) Gross Loss

e A AT oI BT 25 Ulrerd 81, A1 Ay oI WR o™ BT —
(A) 20% (B) 30%

(C) 33-% (D) 40%

If Profit is 25% on cost price then the profit on Sale Price will be —
(A) 20% (B) 30%

(C) 33-% (D) 40%

SN CEECIININES IGECIRCI

(A) STeR @M ¥ (B) oIFeR @I ¥

(C) Vs @rd & (D) s & @I -7l

Credit Sale is calculated from :

(A) Debtors Account (B) Creditors Account

(C) Cash Account (D) None of these

frfaRad & H—0 ore ¥l & ?

(A) SUTPR (B) T=fer
(C) fafvramt (D) Xivs
Which of the following is Intangible Asset ?
(A) Furniture (B) Goodwill
(C) Investment (D) Cash

14
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39.

40.

41.

NEECERICIRSIN IR

(A) SIHIOIRI &1 @ Sird 2q
(B) SushH & 3ifoH @ 99 =BG

(C) Y& W & JAHD ATTT TG

(D) Sudad |+l

Trial Balance is prepared to :

(A) Check the arithmetical accuracy

(B) Prepare Final accounts of the enterprise
(C) Comparative study of each account

(D) All of the above

SRITh=T 9T &
(A) PR bl (B) syawrrg @
(C) 7g=a =1 (D) sifrr @1

Accounting is language of :

(A) Computer (B) Business
(C) Men (D) Officers
IR AT § o

(A) SURPR (B) wa=

(C) wef=dy (D) 3 el

Fixed Assets include :

(A) Furniture (B) Building

15
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42.

43.

44.

(C) Machinery

fde gU AT B AT fFepTel — IR BT = W0 40,000, 31f~TH Efcra

= J0 20,000, T = &0 45,000
(A) 0 75,000

(C) %0 1,05,000

Find the cost of Goods Sold :- Opening stock = Rs. 40,000, Closing

stock = Rs. 20,000, Purchase =

(A) Rs. 75,000
(C) Rs. 1,05,000
HOTGR! @ ®

(A) I G

(O EILEIECINI
Wages account is :
(A) Personal account

(C) Nominal account

RIS ofEl a8l fhar Sirar &

(A) IR dSCT Bl

(C) = (A) vd (B)

No Journal entry is made for :
(A) Trade discount

(C) Both (A) and (B)

(D) All of these

(B) 0 65,000

(D) 0 25,000

Rs. 45,000
(B) Rs. 65,000

(D) Rs. 25,000

(B) arfde @ral

(D) %=t @rar

(B) Real account

(D) Fixed account

(B) Tg dcel &

(D) 379 | Big &I

(B) Cash discount

(D) None of these

16
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45.

46.

47.

48.

GIdha YA dle &I WU 85 —

(A) 1971 (B) 1999

(C) 1977 (D) 1980
Accounting Standard Board was established in —
(A) 1971 (B) 1999

(C) 1977 (D) 1980
ST 2T YoTTell H iy grefl & -

(A) 32 (B) gfar
(C) ufshar (D) SwRIad |

The features of Accounting Information system are :

(A) Objective (B) Structure

(C) Procedure (D) All of the above
Rl BT STl IR AT Her ©

(A) TFaR (B) Ioft

(C) < (D) 74 & ®Ig Tl
Excess of assets over liabilities is called :

(A) Creditors (B) Capital

(C) Profit (D) None of these

AT P Bl FHRTT W0 50,000 & AT A QNI WO 15000 &, AT Yoil

@1 AR et Brfl ?

(A) 0 65,000 (B) 0 35,000

17
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(C) %0 50,000 (D) %0 15,000

If the total assets of a business are Rs. 50,000 and total Liabilities Rs.
15,000, then what will be the amount of Capital ?

(A) Rs. 65,000 (B) Rs. 35,000

(C) Rs. 50,000 (D) Rs. 15,000

49. XIPps QAT & UH -

(A) I G (B) arfde @l

(ONILIERCIY (D) g=rd @

Cash Accountis a :

(A) Personal Account (B) Real Account

(C) Nominal Account (D) Saving Account
50. % FAEMM fAaROT U 991 ST ©

(A) AT gRT (B) % gw1

(C) us® w1 (D) s &1 &

Bank Reconciliation statement is usually prepared:

(A) By Businessman (B) By Bank

(C) By Customer (D) All of these

51, IO BT S ¢
(A) T 3T (B) a1 STy
(C) < (A) &R (B) (D) Searel ¥ freae

18
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52.

53.

54.

Objective of business is :

(A) Profit objective (B) Service objective

(C) Both (A) and (B) (D) Adulteration in Products
EERIDEE

(A) Dot (B) fasm

(C) werr wd fasm <=t (D) 378 | BIg 2
Business is :

(A) An art (B) A science

(C) Art & Science both (D) None of these

= § & o9 vw anfdie fhar w8t ® ?
(A) IRGRAT BT IedTa (B) a3l T MR
(C) WRIaR ¥t (D) #feR # Y& H_AT

Which of the following is not an economic activity ?

(A) Production of goods (B) Trading in goods

(C) Professional services (D) Worship in the temple
I AIF &8 ©

(A) TR BT (B) arforsy @

(C) Fadma &1 (D) ST BT

The most wide scope is of :
(A) Trade (B) Commerce

(C) Business (D) Industry

19
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55.

56.

57.

58.

THIDH! AR H

(A) goT MY=Tger el 2 |
(C) Traraar S @) 2|
In sole trading there is :
(A) Full secrecy

(C) Secrecy is nominal

TSGR & YSIad BT ©
(A) Yo

(C) 3mazas

Registration of Partnership is :
(A) Voluntary

(C) Essential

(B) g &l &l 7 |
(D) 395 | @I 2l

(B) No Secrecy

(D) None of these

(B) arfvrard
(D) 379 | Big &I

(B) Compulsory

(D) None of these

U ATASI(~T B B AT P IfThdd F&IT Bl © -

(A) STt

(C) 200

The maximum number of members in a public limited company is :

(A) Unlimited

(C) 200

BT @ Yol fafe= el # favea gl 2, Uxie 9HT Sgardn § 2

(A) oTTer

(C) surst

For More PDF and study materials visit- skylightstudy.in
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59.

60.

61.

The capital of a company is divided into number of Parts, each one of
which is called ?

(A) Dividend (B) Profit

(C) Interest (D) Share

i Susma # gl 2

(A) HaT “1a (B) wiosfrarerm

(C) Mceatdar (D) T |+

In departmental undertaking there is :

(A) Service motive (B) Secrecy

(C) Economy (D) All of these

TS A8l < dTell @Il b © ?

(A\) =Tef, @t (B) 9ard @l
(ORSIBIRSEIREINY (D) afrardt ST @
The account on which interest is not allowed is ?

(A) Current Account (B) Saving Account

(C) Fixed Deposit Account (D) Recurring Deposit Account
qiforigs d6 & dral § e §

(A) ST WHR BRI (B) o1 T PRl
(C) lrex gfaer (D) 7H & |+
The functions of a commercial bank includes :

(A) Accepting deposits (B) Granting of Loans

21
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(C) Locker Facility (D) All of these
62. Ml & UETPR B © :

(A) 2 (B)3

(C)4 (D)5

Parties to insurance are :

(A) 2 (B)3

(C) 4 (D) 5
63. WA H ST WQTSAT BT TR 3T T

(A) 1737 3 (B) 1837 #

(C) 1937 & (D) T & BIE TEF

Postal services started in India in :

(A) 1737 (B) 1837

(C) 1937 (D) None of these
64. 3T B UPR B © :

(A) 4 (B)3

(C)2 (D) 374 & ®Ig el
The kinds of shares are :

(A) 4 (B)3

(C) 2 (D) None of these

65. HTHT P IJIITURT B B ¢

(A) T (B) ForeTar

22
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66.

67.

68.

(C) TeR (D) 375 | I &l
Share holders of a company are :
(A) Owners (B) Creditors

(C) Debtors (D) None of these

BIC aAM, UaT 33+ H§ WD ©

(A) 31ferep TSR (B) amfeiey #orgeh

(C) (A) Td (B) =i (D) 3% W BIs =&
Small business are helpful to generate:

(A) More employment (B) Economic strength

(C) Both (A) and (B) (D) None of these

R B FUBY Bl B PHRAT ©

(A) HEaR AT (B) ot AT
(C) scTe® (D) SuraT
Storing of goods is done by :

(A) Retailer (B) Wholesaler

(C) Producer (D) Consumer

IEHEEIS HMI R Il o fhe Bl 2

(A) afear (B) wfear
(C) 9= (D) =rerar=
The quality of goods on multiple shops is —

(A) Superior (B) Inferior

23
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69.

70.

71.

(C) Normal (D) Perishable
HEh] AR AT 99T ©

(A) STTaaTail (B) Scureah
(C) e egraTRat (D) forfan

A retailer sells goods to :

(A) Consumers (B) Producers

(C) Wholesalers (D) Manufacturer
ST ST ScaTe AT avd b <2 ¥ 3Afdeh <2 H BIal ©
(A) T R (B) IgISTT BT

(C) facef ot (D) =

Company whose production or business are in more than one country,

is
(A) National Company (B) Multinational Company
(C) Foreign Company (D) Inland Company

[N

JIfpTT TIH™T | M ®H H AISERT B YATH A& ©

(A) =1 (B) df=r
(C)=w (D) §=

The minimum number of Partners in a firm carrying on banking

business is :
(A) Two (B) Five
(C) Ten (D) Twenty

24
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72, faferg o= & €
GVASICICE! (B) 3feer U=
(C) wfd=T o= (D) & & ¥ &
Bill of exchange is a
(A) Credit letter (B) Order letter

(C) Promissory Note (D) None of these

73.  fr=ifea 9 9 91 eaie dar g ?
(A) dfdr (B) ¥=m
(C) IrarTa (D) T &+t
Which of the following is a business service ?

(A) Banking (B) Communication

(C) Transport (D) All of these

74, Ud 3f<B] F1US Bl @ :
(A) srfeia (B) et
(C) 3T & ITe @ Ay (D) 78 | &
A good brand is :
(A) Unique (B) Simple
(C) Easy to remember (D) All of these
75. % fafvm gomell 9 ey ©

(A) b Y (B) g fdshl

(C) SuR fas! (D) %] & dqcl a¥x] BT faf

25
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76.

77.

78.

The meaning of barter system is :

(A) Cash purchase (B) Cash sales

(C) Credit Sales (D) Exchange of goods by goods
83.567 DI QI Hfd APl & AlAdhe Add PN —

(A) 83.58 (B) 84

(C) 8 x 107 (D) 83.56

Express 83.567 correct to 2 significant figures :-

(A) 83.58 (B) 84

(C) 8 x 107 (D) 83.56

56.0052 H fohd=l ATeie dw=w € ?

(A) 2 (B) 4
(C)6 (D) & & TIx e
How many significant numbers are there in 56.0052 ?
(A) 2 (B)4

(C)6 (D) None of these

UcIg dl FHIE [l BH & AIRIER § | Sd] Yol HHAS: W0 4,00,000 Td %0
12,00,000 & | S9! Goll BT AU BRI
(A)3: 1 (B)1:3

(C)2:1 (D)1:2

26

For More PDF and study materials visit- skylightstudy.in



79.

80.

81.

Pradeep and Pramod are partners in a firm. Their capitals are Rs.

4,00,000 and Rs. 12,00,000 respectively. The ratio of their capital will

be :
(A)3:1 (B)1:3
(C)2:1 (D)1:2

=T S uTdl § BT U 3 1 2 & IR & ?

(A) 360 : 240 (B) 240 : 160

(C) 300 : 200 (D) 399 |+

Which of the following ratio is equal to the ratio 3 :2 ?

(A) 360 : 240 (B) 240 : 160

(B) 300 : 200 (D) All of these

I U I DI oI W0 53 ©, T 9750 IXI3| BT oI &IT BT 2
(A) 0 5,16,750 (B) 0 5,26,750

(C) %0 5,36,750 (D) 31 ¥ B =l

If the price of one article is Rs. 53, then the price of 9,750 articles will

be :
(A) Rs. 5,16,750 (B) Rs. 5,26,750
(C) Rs. 5,36,750 (D) None of these

Al 10 TR FF HI B [0 60 T, AT 25 [HARTH HI DI BT BEIT 2
(A) 0 600 (B) ®0 150

(C) w0 120 (D) w0 250
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If the price of 10 kg apple is Rs. 60, then the price of 25 kg apple will

be ?
(A) Rs. 600 (B) Rs. 150
(C)Rs. 120 (D) Rs. 250

82. T 25 SfelR = [0 2,000 TT 40 SfeR & A fhad wYY BT ?
(A) 0 1000 (B) 0 3200
(C) %0 4000 (D) 31 ¥ B =l

If 25 Dollars = Rs. 2,000 then how many rupees are equal to 40

dollars?

(A) Rs. 1,000 (B) Rs. 3,200

(C) Rs. 4,000 (D) None of these
83. o BT 60 Ul = 3

(A) 5 (B) 15

(C) 10 (D) 30

.......... Of60% =3

(A) 5 (B) 15

(C) 10 (D) 30

84. W0 1600 BT 5 YIS a1 =TS &I TR A 3 I9I BT AR AT BRI —
(A) |0 240 (B) w0 24
(C) w0 80 (D) =0 1600

Simple interest on Rs. 1600 @ 5% per annum for 3 years will be
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85.

86.

87.

(A) Rs. 240 (B) Rs. 24

(C) 80 (D) Rs. 1600

fha=l |9 H w0 1250 HAYT W 6 U dMftis TS &I & F [0 300

TS BATT 7
(A) 3 9 (B) 4 a9
(C)5 ad (D) 6 %

In what time the amount of interest will be Rs. 300 on the Principal of

Rs. 1250 @ 6% P.a.

(A) 3 years (B) 4 years
(C) 5 years (D) 6 years
w0 2250 WX 4 U= &1 &R ¥ Il = ?

(A) 0 180 (B) =0 90

(C) w0 225 (D) w0 220
Discount on Rs. 2250 @ 4% = ?

(A) Rs. 180 (B) Rs 90

(C) Rs. 225 (D) Rs. 220
frel avg &I f9 Heg W 991 1T B, S FEd © ¢

(A) BT (B) «IrTd e
(C) fasa Feu (D) v
The price at which an article is sold is known as :

(A) Purchase price (B) Cost price
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88.

89.

90.

(C) Sale price (D) Profit

fdT o1 T 20 UfTerd B R [0 60 W =T AT, 9% BT HIH T :

(A) w0 75 (B) %0 65

(C) w0 70 (D) %0 80

An article was sold for Rs. 60 at 20% loss. Its purchase price was .......
(A)Rs. 75 (B) Rs. 65

(C) Rs. 70 (D) Rs. 80

10 gfcrerd, 10 gfderd @om 10 UfRid il hAMER gcc &l FHdE Uh
AR §CeT 2

(A) 10% (B) 70.1 %

(C) 72.9% (D) 27.1%

A Simple discount equivalent to a discount series of 10%, 10% and

10% is :
(A) 10% (B) 70.1 %
(C) 72.9% (D) 27.1%

AR <TST &7 3 §

_PXRXT _ 1x100
(A) 1= 100 (B)P= RxT
_ 1x100 _ 1x100
(C)R= PxT D) T = P xR
The formula of Simple interest is —
_PxRxT _1x100
(A) 1= 100 (B)P = RxT
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91.

92.

93.

OR=122 o=
12 AIex ¥ fdbar FErfiex 8 ?

(A) 1000 IR (B) 1200 A=<
(C) 2000 AR (D) 31 ¥ B =l

How many centimeters will be in 12 meters ?
(A) 1000 centimeters (B) 1200 centimeters
(C) 2000 centimeters (D) None of these

U fAHidr 10 gfererd SRTa R 31fSe <Thx s ATURT BT Jiol d<dl & | afe

X W0 440 ¥ b B, O NI Hed BT ?

(A) 0 440 (B) 0 400

(C) w0 4400 (D) %0 394

A manufacturer sold goods to wholesaler at cost plus 10%. If he sold
goods for Rs. 440, what will be the cost price ?

(A) Rs. 440 (B) Rs. 400

(C) Rs. 4400 (D) Rs. 394

SIUT &1 & &l A1 &1 § 2

(A) o9 (B) T
(C) Raret (D) Sier
What is the name of currency of Japan ?

(A) Yen (B) Rupees
(C) Riyal (D) Dollar
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94.

95.

96.

97.

36 fdbHl ORI ©eT @1 A1l DI Alex Ufd Adhvs H Jad |
(A) 36 m/s (B) 10 m/s

(C) 360 m/s (D) s & IS 8l
Express the speed of 36km/hour in meter per second.
(A) 36 m/s (B) 10 m/s

(C) 360 m/s (D) None of these

40 :90 :: 160 : X H X BT A9 & —

(A) 360 (B) 480

(C) 540 (D) 5% & IS 78
The value of xin 40:90::160 : xis :

(A) 360 (B) 480

(C) 540 (D) None of these

% fhar fererd & sxeR gar § ?
(A) 50 (B) 20
(C) 100 (D)5
% equals to what percentage ?
(A) 50 (B) 20

(C) 100 (D) 5

8421625 Bl oI & A~ AT BN :

(A) 84 ot (B) 85 oIt
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98.

99.

100.

(C) 840 g (D) 9 e

Express 8421625 nearest to Lakh :

(A) 84 Lakh (B) 85 Lakh
(C) 840 Lakh (D) 9 Lakh

g Pl fdhl — Uchel AN = ... ?

(A) FHet A (B) et B
(C) g (D) g= &M
Total Net Sales — Direct cost = ............. ?

(A) Gross Profit (B) Gross Loss
(C) Net Profit (D) Net Loss

40 T 30 Gfcerd = ? &1 10 Ufderd + 2

(A) 90 (B) 100

(C) 80 (D) 110

30 % of 40 =? of 10% + 2

(A) 90 (B) 100

(C) 80 (D) 110

IH ABM BT o, Dl WET W Gelld bl 30 Ulaed & &R ¥ %0

18,750 Tollell <l AT, oft
(A) 0 62,500 (B) 0 1,25,000

(C) %0 6,25,000 (D) %0 2,50,000
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The value of house, in the purchase of which the broker was paid 30%
brokerage amounting to Rs. 18,750 was

(A) Rs. 62,500 (B) Rs.1,25,000

(C) Rs. 6,25,000 (D) Rs. 2,50,000

Hus—9 / Section-B

e 3T 939 / Short Answer Type Questions

Ue &A1 1 ¥ 30 dP Y ST & | g8 A el 15 U B SR ° | UAD YA
& forg 2 i fuiRa €| (15x2=30)
Question No. 1 to 30 are Short Answer Type. Answer any 15 questions.

Each question carries 2 marks. (15x2=30)

1. i ug i fehatd # dIs QT 3R ddTsd | 2

Give any two differences between Economic & Non economic
activities.

2. Uel RIT B ? 2
What is profession ?

3. THTh] FaHI & &l 9 RT 5 7 2
What are the two advantages of sole trading business ?

4. AEERT &7 gRTST EIf3Y | 2
Define partnership.

5, BT T ATERI § PIs &I IR sy | 2

State any two differences between company and partnership.
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10.

11.

12.

13.

14.

15.

IR URA B ¥ g9 foaRefig d@ -+ | 8 ? 2
What are the elements to be considered while starting a business?

29 H U O 9Tl faf= YR & dbi & A9 9ads0 | 2

Name the different types of Banks in a country.

I & RIT—FIT AT © 7 2
What are the advantages of Insurance ?

SGiHT & QI Ieed IAT8d | 2
Give any two objects of accounting.

T AT BT ¥ 3R T DN | 2
Differentiate between profit and loss.

g faf=ra gormelt @& 7§ 2 2

What is Barter system ?

ATl BT 7 AU & 2 2
What is the meaning of Goods ?

CIRSIEERCISI G 2
What is Real Account ?

T HHARI = w0 500 HI ATed ARl fbar, Sial Ufdfte o | 2
Pass Journal entries — Goods worth Rs. 500 stolen by an

employee.

AHETE @rdT & o Sfde ug wfee &1 fAray ford | 2

Write the Rule of Debit & Credit for Nominal Accounts.
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16.

17.

18.

19.

20.

21.

22.

23.

24,

RIhe q81 & A= gbrl & M ford | 2
Name the various types of cash book.

d&% T fdeRer R g9 S § 2 2
Why is Bank Reconciliation Statement prepared ?

Telue g D1 a1 Al & A9 Fdrai | 2
Name two methods of preparing Trial Balance.

e &1 TEReT fhy wed § ? 2

What is meant by Dishonour of Bill of Exchange ?

RS WTaT -t a97T ST § 2 2

Why is trading account prepared ?

bl AT BT TUFET BN : [dhT = WO 5,00,000, Fbhel oA fashd &1 25
gfaerd 21 2
Calculate Gross Profit : Sales = rs. 5,00,000 and Gross Profit on

Sales is 25 %.
FHreie Uoll o7 8 ? 2
What is working capital ?

ORI faaRoT 9971 T 90 Se%F AT & 7 2

What are the main objective of preparing Financial Statements ?

176.5621 BT Udh T I b g A HabTed | 2

Find the value of 176.5621 correct to one decimal place -
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25.

26.

27.

28.

29.

30.

50 oflex fH81o7 # q¢ Ud Ul &7 I1guTd 4 - 1 ® AfT 39 MsOT # 10
ofie” arl et SITe 1 9t fHeor H gY gd Ul &7 SrguTd Tl | 2
In a mixture of 50 litre, the ratio of milk and water is 4 : 1. If 10 litre
of water is added to the mixture, then in the resulting mixture,
calculate the ratio of milk and water.

T YARTRT BT HIERT Tl 14 Gfaerd &1 &% | o9 auf § %0 23520 ©
CENINESINECES 2
The simple interest on a certain sum of money for 3 years at 14 %

per annum is Rs. 235.20. Find the sum.

Uh W0 5000 P! I&] 20 UL Tl 15 UfAUd & HATTHAR dSc W
fashg B gdfad &, @1 a9 &1 [Ahd qod fHdrel | 2
An item is offered for sale at Rs. 5,000, less successive discounts

of 20% and 15%. Find out the sale Price of the item.

u%A=Bm§,B=sz§,aaA:B:C%:— 2

|fA=§ofB,B=§ofCthenA:B:Cis.

IfE WO 100 BT HHIT ®WO 1.125 & oI WO 10,000 BT HHILE fba
BT 7 2
If commission on Rs. 100 is Rs. 1.125, then how much

commission will be on Rs. 10,000 ?

224 3R 1584 P =IACH JJUI [ebTef | 2

Find the minimum ratio of 224 and 1584.
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<" S 939 /Long Answer Type Questions

U9 AT 31 W 38 SY SN U 2| 398 A Pl 4 U & SR T | UAb YA

& g 5 o/ FEiRa §) (4x5=20)

Question no. 31 to 38 are Long answer Type. Answer any 4 questions. Each

question carries 5 marks. (4x5=20)

31.

32.

33.

34.

35.

THE YR D d o @1 e | 5
Write five merits of sole trading.

AT & A= UBRT BT o1 B | 5
Explain the various types of insurance.

TP ATsfhd w0 10,800 ¥ famy o= ¥ 10 ufowd B g 2| faw
I W 39 931 WY {20 ufcrerd o ot @1 ? 5
There would be 10% loss if a cycle is sold at Rs. 10,800. At what

price should it be sold to earn a profit of 20% ?

w0 5,000 WX 5 Ufererd Ul @l &R 9§ 2 Y BT dhdig TSl Sl N |5

Find the compound interest on Rs. 5,000 at 5% P.A. for 2 years.
Y& ™ Bl ITUET BN — 5
e fdshd = W0 1,00,000, SR fdhd = WO 1,50,000, JUIET T = W0
40,000 UG &[T T AT &I AN = [0 1,20,000.

Calculate Net Profit —

Cash sales = Rs. 1,00,000, Credit Sales = Rs. 1,50,000. Indirect

Expenses = Rs. 40,000 and Cost of goods sold = Rs. 1,20,000.
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36.

37.

For More PDF and study materials visit- skylightstudy.in

T & A= geRi &1 99 ford | S99 SH e dRa @ 99 a1 ford 15

Write the different types of Accounts. Describe the rules to

Journalising in these accounts.

7 o9 <Al 9 WA UHs T8l IR DIIY 5
2021 ®0
SR — 01 | BT H e 10,000
SRl — 05 | Fdha HY 5,000
SHET — 09 | AT IR I A b 3,500
SNl — 20 | Fdhe fdshy 2,500
SR — 25 | I+ &= 1,800
ST — 30 | #e wRIEl 2,000

From the following transaction, Prepare a simple cash book —

2021 Rs.
January-01 | Cash in hand 10,000
January-05 | Cash purchase 5,000
January-09 | Paid to Agrawal store 3,500
January-20 | Cash sales 2,500
January-25 | Paid salary 1,800
January-30 | Purchased Machinery 2,000
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38.  AUIRS AT Td o™ BT AT | $Ig Uld <R qarsy | 5
Give any five differences between Trading Account and Profit &

Loss Account.
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